ALGIII5/9/18
Period Change and Horizontal Shift

Warm Up: Match each equation to its graph.

f(6)=3sin6 -2 f(6)==3cos6+3

Name:

f(6)=3cos6

f(6)=sin6+3
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Example #1: Graph f(6)=cos26
Amplitude: Period:
Vert. Shift: Increment:

Horizontal Shift: Key Values:




Example #2: Graph f(6) =—sin46

Amplitude: Period:
Vert. Shift: Increment:
Horizontal Shift: Key Values:

Example #3: Graph f(0) = si.{e - %J

Amplitude: Period:

Vert. Shift: Increment:

Horizontal Shift: Key Values:




Example #4: Graph f(0) =3cos 2(0 +%J

Amplitude: Period:
Vert. Shift: Increment:
Horizontal Shift: Key Values:

Example #5: Graph f(6) =sin(36 — )

Amplitude: Period:

Vert. Shift: Increment:

Horizontal Shift: Key Values:




Assignment:

1. Graph f(6)=3sin260

Amplitude: Period:
Vert. Shift: Increment:
Horizontal Shift: Key Values:

2. Graph f(6) = —2003[9 + g}

Amplitude: Period:

Vert. Shift: Increment:

Horizontal Shift: Key Values:




3. f(68)=2cos 3(9+§]

Amplitude: Period:
Vert. Shift: Increment:
Horizontal Shift: Key Values:

Amplitude: Period:

Vert. Shift: Increment:

Horizontal Shift: Key Values:




